= o
N & 0l & AF & E A A
20178 =& 2 & L3 Hulelm At
S QNI 2 It
Hil: S2HAWLEERFI(UK/RULEZSSNR)
S NFKEIMLAY (chel & 9l)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hns2Z
A HI QI TH A It 5,048,403 4,899,983 148,420
= 7,210 0 7,210
< 135,306 127,306 8,000
Al 4,905,887 4,772,677 133,210
SRYUNLESERFI (UK /ROULEZESWR) 3,574,215 3,459,215 115,000
< 90,856 90,856 0
Al 3,483,359 3,368,359 115,000
ME=2= 2= D) FaPN R 2,249,690 2,134,690 115,000
< 10,000 10,000 0
Al 2,239,690 2,124,690 115,000
OITH & ZSTHEHE & 615,750 500,750 115,000
306 243 615,000 500,000 115,000
01 &3 615,000 500,000 115,000
OQANMSHESMHIIZ EH(SLE S ALH])
Z & 615,000,000 615,000 500,000 115,000
HMstE CAISE(UWS/EM - MHWR) 569,034 535,614 33,420
= 7,210 0 7,210
= 27,000 19,000 8,000
Al 534,824 516,614 18,210
sMlsts=Y 480,200 446,780 33,420
= 7,210 0 7,210
< 27,000 19,000 8,000
Al 445,990 427,780 18,210
BMSt S de ALY 331,500 328,500 3,000
201 L2l 21,500 18,500 3,000
01 At 22l 19,500 16,500 3,000
OHWHIFEAMAE 4ESE &
300,000& « 10A 3,000 0 3,000
(Z)H A BHNEXAAY 14,420 0 14,420
= 7,210 0 7,210
Al 7,210 0 7,210
307 glz2tol & 14,420 0 14,420
= 7,210 0 7,210
Al 7,210 0 7,210
02 IZtE M AHE X 14,420 0 14,420
OHUZHUSXNHAS (FZLHEE ALE)
14,420,000& * 14 14,420 0 14,420
= 7,210 0 7,210
Al 7,210 0 7,210
(Z)BE=EE USEMNSNER SEAY 16,000 0 16,000
< 8,000 0 8,000
Al 8,000 0 8,000
307 glz2tol & 16,000 0 16,000
< 8,000 0 8,000
Al 8,000 0 8,000
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